o a) Shade the bar models to represent the fractions.

Order fractions
i 3
2
1
o a) Shade the bar models to represent the fractions. 3
1
5 1
4
F
5
L
3 5
5
4 b) What do you notice?
5

Complete the sentence.
b) What do you notice? @ ¢) Comp e sentence

[numerutnr] (dennminmar) (gre-uter ] ( smaller ]

¢ Complete the sentence.

[numer-utﬁr' } (denaminmnr_] [ greater J {_ smaller J When fractions have the same the
When fractions have the same , the the the
the fraction.
the the
the fraction.
o Write the fractions in arder, starting with the greatest.
e Write the fractions in order, starting with the smallest. % % % 1 5
2 11
3 8 A 2 7
9 9 9 9 9

o e e v




Y ihite 3

o a) Shade the bar models to represent the fractions. @

1770007 ;
2
V2772, 3
o a) shade the bar models to represent the fractions. 3
W 5
4
V1 % H
5
1
% : i ;
5
%ﬂ % % 4 b} What do you notice? @
5
¢} Complete the sentence.
b} What do you notice?
) Complete the sentence. (numem‘tnr -J [dennminntar:] (_grenter ] ( smaller jl
(Lnumerator ) (deneminator ) {:_'EIFE“TE" ) (Lsmaller ) When fractions have the same __ouonnreloe | the
When fractions have the same _doevasnbe | the —'ﬂ':m'“"— the _danominoly  the _Stvally
the fraction.
the the _anr_
the fraction.
RITRRREN ° Write the fractions in order, starting with the greatest.
o Write the fractions in order, starting with the smallest. ¥ 1 1 5 L
9 3 7 2 1
1 8 4 2 .
9 9 9 9 9 18 i A | /
2 3 7 al |
Ll I'e] | & | ¥ |'%
a| [9] (9] [9] [ arecies
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Add fractions s G|
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o Complets the odditions.

Use the bor models to help you.

o) [ ] Lol ]

37

- ﬂ Complete the port-whole models.,

by o A ] 4 a
o} 1 2_—
& S— 1}]

) I

EoE

o Shode the circles ond complete the additions.

a) b)
Which part-whiole model is the odd one out?
Talk obowut your choice with o portner. Did they choose the @
o L same odd one out?
8 8 B B
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Add fractions

o Complete the additions.

Use the bar models to help you.

a) - i 57 I i
3 3
'3 o Complete the part-whole models.
a) 4]
5 5. | %
<) S W |
. 122 (2] (&) () G
9 1 1 E
i E
% % % 5 h |E @

o Shade the circles and complete the additions. %{) e e

l"v Which part-whole model is the odd one out? AUt
Talk about your choice with o partner. Did they choose the @
l+§= L §+l=_é same odd one out?
8 B E 8 8 2
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Thursday

6 Alex and Huan are eating o coke.

Alex eqts % of the coke.

Huan EH'E% of the coke.

What froction of the coke hove they eoten altogether?

They have eoten of the coke altogether.

Teddy is adding fractions.

Q@O

a) Draw a bar model to shiow thot Teddy is wrong.
i

b} Complete the addition

EN [N
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a Annie has boked 12 muffins.

She puts them into 2 boxes.

Complete the table to show different possibilities.

One hos been done for you.

=
—

—h
Fed

Are there any other possibilities? Tolk obout it with o partner. @

Complete the additions.

8

g

e
+
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Thursday ANSWERS
Friday

r

Subtract fractions

o Complete the subtractions. o Complete the part-whole models.
Use the bar models to help you. a) c)
a) . Y
3 3
b) 2.3
5§ 5§
< ¥, 3 18 b)
5 &
d) r S h @
5. il =
S
o Jack hos % of a chocolote bar. Q

He eats % of the chocolate bar.

wWhat fraction of the chocolote bar does he have left? o Complete the part-whole model in four different ways.
o Complete the subtractions.

Simplify your answers where possible.

5% %% 935

- AL T i P & N - Y
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b) Complete the addition % +

o [P
£ s







o Complete the part-whole models. o

a) ﬂ 4]
b) H
o Complete the part-whole model in four different ways.

g .

Kirm has read —g-af her boak.

Tom has read %ﬂf his book.
a) shade the bar models to represent this infoermation.

Kim

Tom

b} How much more has Kim read than Toem?

Write the missing numeraotors.

P T I B
Rle-"s =% ) S
-0 g_i =d 1_1_1
T T T =% 3 ati
5 | | 3 a2 |3 5.2
S " "Ety 8 -s =gt
7 5 :I 4 " A - D
d e ———— W R = — e =
L= =2 WS+5=3-F7+7
Find three possible values of ﬁ .
the square and triangle. k]
92 92 92

How many other answers can you find?

©
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Subtract fractions o Complete the subtractions.

Simplify your ansswers where possible.

Jack has lcf a chocolate bar.

He eats 4 of the chocolate bar.

What fraction of the chocolate bar does he hawve left?

Jadck has i

of the chocolate bar left.

@ RO

7 1 _|Ee(_|Z B _4 =| &
e T i T i 7l it =l )
1
o Complete the subtractions. b"fﬁ‘ﬁ‘%= .I%- - i— f %_%= _::a =3
Use the bar models to help you.
a) = z_ a_IL g LAl g) 3 _5
33 | 3 10 10 [a] 5 9 59 59
d]lni-i =1+ h"||_3_i__{"_
b >_< % g Tk TR R W ] 127 T 127 T3
5 § 5
L b<-| F _ a2_ 13 Complete the part-whole models.
R E) N O
o) >< L O 2
) 5 5|5

O
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Optional questions ANSWERS

o Complete the part-whole model in four different ways. o Write the missing numerators.
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o Kim has read % of her book.
2 _ o Complete the table to show A - g
Jowm Tnces rwcd T ot bl bk three possible values of the o ;—:
a) Shade the bor models to represent this information. % square and triangle.
‘;-E‘
” AV AV A ZA
s/ Az Az aVidvz /\ ]
[y |
o ::‘_" - -r
Tom ;f% F;-J':{'}..u 2':-: = |
30 K,
b} How much more has Kim read than Tem?
& How many other answers con you find? @
Kim has read | 5 | more of her book than Tom.






